Which Article of the Indian Constifytion
pertains to the oath or affirmation by the
Governor?

(A) Article 72 (B) Article 124

(C) Article 159 (D) Article 356

Which constitutional amendment added the
11th Fundamental Duty in the constitution?
(A) 42th constitutional amendment

(B) 86th constitutional amendment

(C) 44th constitutional amendment

(D) 91st constitutional amendment

Which of the following committeeis notrelateq | 3,

to Panchayati raj institutions in India.
(A) Balwant Rai Mehta Comimittee
(B) Ashok Mehta Committee

(C) Y.K. Alagh Committee

(D) Thungon Committee

At present how many states have a Legislative

Council? : :

(A)S - ®6

o7 . o8 . '

Who has the authority to dissolve the Lok

Sabha? : ;

(A) The President of India

(B) The Prime Minister of India

(C) The Chief Justice of India

(D) The Speaker of the Lok Sabha

Which one of the following subjects is under

the Union List in the 7th schedule of the

Constitution of India?

.(A) Regulation of labour and safety in mines
and oilfields

(B) Agriculture

(C) Capitation taxes

(D) Trade unions; industrial and - labour
disputes ‘

Who publishes Global Economic Prospects 7

Report?

(A) World Bank -

(B) IMF ‘

(C) World Trade Organization

(D) World Economic Forum

Which one of the following countries does not
share boarder with Black Sea? iy

(A) Ukraine . (B) Romania,
(C) Moldova (D) Bulgaria

. Which one of the following are not.;:orrectly
matched? - ' pet
(A) Humayun Nama = Gulbadan Beg
(B) Kitab al Rehla = Ibn Battuta gum
(C) Padshah nama = Abdul Hamid Lahori
(D) Kitab-al Hind = AbulFaz] -
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10.

11.

2

13.

14.

15.

16.

17.

The concept of Anuvrata was advocated by?
(A) Mahayana Buddhism
(B) Hinayana Buddhism
(C) Jainism

(D) The Lokayata school
Match the following using the codes given
below?
Ancient site

i. Lothal

i, Kalibangan-
iii. Dholavira

Archaeological finding
Ploughed field
Dockyard
Terracotta
a plough
An inscription comprlsmg
ten large sized signs of
the Harappan script

ol Sl

replica  of

iv. Banawali 4,

A
(A) 1
(B) 2
©1
(D)2 I
Which one of the following is not correctly
matched pair-in ruling dynasty and their
capitals?

(A) Pallava- Kanchi
(B) Pandaya-Madura
(©) Yadava-Mathura
(D) Kakatiya-Warangal

oW

D
4
3
3

RNRLRNO

Which of the following dances is/are not in the
UNESCO Intangible Cultural Heritage list?
(A) Kalbelia (B) Chhau

(C) Mudiyettu ~ (D) Theyyam

The Fourth Buddhist Council was held in
Kashmir under the patronage of Kanishka,
who was the deputy president of that?
(A) Vasumitra (B) Asvaghosa
(C) Karikala

under |
(A) Cabinet Mission Plan
(B) Cripps Proposals

- (C) Mountbatten plan
~ (D) Shimla Agreement

Who among the followmg Indian rulers,
established embassies in foreign countries on
modern lines?

(A) Haider Ali (B) 'er Qasim

(C) Shah Alam-II (D) Tipu Sultan

The Indian Reform Association was founded
by?

(A) Raja Ram Mohan Rai ‘
(B) Ishwar Chandra Vidyasagar

(C) Jyoti rao Phule

(D) None of the above

| 24P-5-1 [4-

=1

(D) Neduncheraladan |
The Constituent Assembly of India was created.

10 o1 2 e o1 el Rt foa o2

11.

12,

13.

14,

15.

16.

17.
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18.

19.

20.

21.

24,

. In order to arrive at the marke

(D) None of the above . -

Who of the following, nrgnniﬂ‘-d amarch on the
Malabar Coast to break {he salt Law in Ap“]
1930? i

(A) V.O. Chidambaram Pillai

(B) C. Rajagopnlm‘hnri

(©) K. Kamwraj

(D) K. Kelappan

Zoji La Pass is located in ?

(A) Union Terri lory of J&K

(B) Union Territory of Ladakh

(C) Sikkim

(D) Himachal Pradesh

The headquarters of Metro Railway Zone jg
located in

(A) Kolkata
(©) New Delhi

The Aravalli Range is the oldest mountain

range in India. Tt stretches across which of the

following states? ,

(A) Rajasthan, Gujarat, Haryana, and Delhi

(B) Rajasthan, Madhya Pradesh, Gujarat, and
Maharashtra

(O) Rajasthan, Uttar Pradesh, Haryana, and
Punjab -

(D) Rajasthan, Maharashtra, Madhya Pradesh,
and Gujarat atieiign I

(B) Mumbai
(D) Chennai

Which one of the following is not a site for
in-situ method of conservation of flora?

(A) Biosphere Reserve (B) Wildlife Sanctuary
(©) National Park

Biomagnification refers to:

(A) Increase in population of a species

(B) Increase in concentration of a pollutant in
the food chain :

(C) Decrease in biodiversity e £ |

(D) Increase in global temperature

Which of the following is not associated with
Eutrophication of water bodies?
(A) Excessive growth of algae
(B) Increase in water pollution

- () Increase in dissolved oxygen

(D) All of the above

t price of a

product which of the following is added 10 the

factor cost of the product?
(A) Sum of all Direct taxes
(B) Sum of all Indirect taxes
(C) Sum of total subsidy

(D) Botanical Garden

18.

19.

20.
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26.

27.

28.

29.

30.

31.

32.

33,

34,

35.

24P-S-1

he earliest eve
Which of the following Was the ear ent

to take place? i

o anie
(A) Nationalisation of InSUr2% ¢ ComPE
(B) Nationalisation of AIf lncm] tion act
(C) Enmetment of banking reguia

(D) Nationalisation of 5B .
If RBI reduces the cash reserve r

happen to the credit creation’?
(A) There will be no impact:
(B) It will decrease.

(C) 1t will increase.

(D) None of the above

atio, what will

Which of the following is used to estimate

poverty in India?

(A) Head count ratio

(B) calorie intake

(C) consumption expenditure
(D) Per capita income

Which of the following city has become 1st
Indian city to be the part of UNESCO world
cities culture forum?
(A) Mumbai
(C) Varanasi

(B) Bengaluru
(D) Ayodhaya

India's first indigenously developed nuclear-
capable submarine is named:

(A) INS Arihant (B) INS Vikrant

(C) INS Arighat (D) INS Viraat

Black lung disease occurs in people working
in:

(A) Electroplating industry

(B) Organic solvents industry

(C) Paint manufacturing industry

(D) Coal mines ]

Which amongst the following is largest
endocrine gland in the body?

(A) Adrenal (B) Parathyroid

(C) Thyroid (D) Pituitary

Which part of the cinchona yields a drug?
(A) Bark (B) Leaf
(C) Pericarp (D) Endosperm

In eye donation, which part of the eye is
transplanted from the donor?

(A) Cornea (B) Lens

(C) Retina (D) The whole eye

A hibernating frog respires with___

(A) Lung (B) Diaphragm
(C) Buccal epithelium (D) Skin

[6 -

26.

27,

28.

29,

30.

31.

32.

33.

34.

35.
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36. The melodious sound of mapy1 bi:rds comes | 36, 3 ufdyall @ T UI:;’;?qWQ;W TEY 74
from a mysterious OB Yt“:i:f L:’r‘:}; Wllhm U SGraull afrr W 3¢ W "R TR
@Egheir chests. Such a voice b’ b Y o w1 A ¢
;)t;g nown as (B) Rilicisl
(

EIREA) synsacrum (B) syrinx
(C) larynx (D) None of the above (C) T

37. A small pouch containing silicd gel is often | 37, ffermr o1 7
cinein tabletor powder '

found in bottles of medi IR B

form !.x\causc si.licn gel iif RiferT 3l

(A) kills bacteria A Rt Y <l & ‘

(B) kills germs and spores (A) +if 3R m&ﬂ Bl IRar 2

(C) absorbs moisture oot (B) ®1ery Il

(D) absorbs all gases present the bottle () T B araaifid i @

(D) @t A hikl ST e 3

38. The release of which of the following into ponds | 38, qremal 3 zge,ﬁ ! ﬁﬁfﬁa 4 9 e Rers

and wells helps in controlling mosquitoes? et @y PP e ¥ GG &R 77

(A) Snail (B) Crab i (A) e (B) m

(C) Dogfish (0) Gambusia (C) ST (D) v woeh

is a fli T&F JoM Wd 9 2
39. The dodo (Raphus cucullatus) is a ﬂlghtl(_ess 39, Q1 @FE ?ﬁ_ﬂjﬂfﬁ) :
¥ bird, as per(I[tJEN it is categorized under which il & AR 2 b o # wiipa far

category? T &7
(A) Extinct ‘ . (A) figa (B) ECL
O e () g (D) TR 7 & g

© Endangered

Criticall endangered ) _ _ = .
40. (Clz))lours of yred, pink, blue and purple in | 40. wfesl aie welt § o, T, At AR T

vegetables and fruits come mainly from which T J frg avi® ¥ g &°

pigments? 2 (A) Tt (B) @I
(A) Anthocyanins (1133) Iéycofeng ds (C) TR (D) IRFES
1l arotenoi ) _
41. (gs?g(e):so I::iki?,’coloumd(ixz air because -of the 41? et BT DY guferfa & 9 g 3 IRV AR
presence of which of the following gases in air? &) I 87
(A) Oxygen (B) Chlorin . (&) dteiom (B) T
(C) Carbon dioxide (D) Hydrogen Sulphide | . 0) ad sesteEs (D) S
4?2. Shreya tabulated the six essential nutrients in 42. Y UE AETED UND qal o & Afr 3§
two categories ; . oifga fe
Macronutrients | Micronutrients | . e LA
Carbohydrates Fats _ FREEST |
Proteins Vitamins | @ frefm |
Water Minerals - : e @t
: R
which nutrient is placed wrongly? . R R R m—— LR CDURL ‘%?
| (A) Fats ' (B) Proteins (A) T (B) W .
(C) Minerals (D) None of the above gl:& @i ) SR 5 IR T
b 43. Which part of the plant gives us the saffron? 8. B | W ,Sgﬂ e ¥
t (A) Roots (B) Petals . L (A) o ®) Al
E (C) Stem (D) Stigma (O) T ‘ ) T
g 44, Salts of which of the following . elements 44, : A Y frey ad ® T et 1
E provide colours ltO hﬁreworks? V1 RR v §
i (A) Zinc and Sulphur (A) Rim 3R ORI
(B) Potassium and Mercury Fa i '(C; . Rl R (B) arefRrr S P
Strontium and Barium (©) RWRem sy 3R (D) W

Chromium and Nickel T
e M ‘ 24p-5-1

& _
TR ST

—— : = —
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45. Curie point is the tempe'rature

(A) Matter b, ecomes radioactive

Eg.‘ (B) A metal loges magl‘lCtiF PIOpel‘tles
§ (C) A meta] Joges conductivity rs
As] (D) Transmutation of metal occurs:

=]

46. The base used ag an antacid i
(A) Calcium hydroxide
(B) Barium hydroxide
© Magnesium hydroxide
(D) Silver hydroxide

47. The quality of petrol is expressecl in 47

(A) Cetane number ~ (B) Octane numbe;
(C) Butane number (D) Reynolds number

48. For the presarvétion of fruit juice which of the | 48,

following is used?
(A) Acetic acid
(C) Sulphuric acid

(B) Formic acid
(D) Sodium Benzoate

49. Which one of the following compounds is used | 49,

to make fireproof clothing?
(A) Sodium Sulphate

(B) Magnesium Sulphate
(C) Ferrous Sulphate

(D) Aluminium Sulphate

50. Which one of the following is used in Rat 50.

poison?

(A) Zinc Sulphide

(B) Lead Sulphide

(©) Calcium Phosphate
(D) Zinc Phosphide

51. A train normally covers a certain distance at a | 51,

speed of 60Km/Hr. However, if it were to halt
for a fixed time interval in each hour its average
speed reduced at 50 Km/hr. What is the time
interval for which the train halt in each hour?
(A) 10 minutes (B) 20 minutes

(C) 6 minutes (D) 12 minutes

52, A retailer has n stones by which he can [ 52.

measure(weight) all the quantities from 1 kg to
121 kg (in integer only) keeping these stones on
either side of the balance. What is the minimum

at which 45,

46.

T g 78 o @ R o
A)W%ﬁm‘rﬁﬁmg

B) W wrg 7o 1o iy 2 @

C) W wrg e @t e 2

(D) g &1 uiaeor grar 2

Tefs 3
(A)%%m?mﬁ@“mmwmm%?
(B) 2R gregfamse

(©) #hfimm erggiaarss

(D) RreR gregiaags

U A o R @ ) oy 27

(A) e e (B) sifas vt

(©) =7 e (D) Ve wem
Bl & 9 B WA B Rw Preafafeg § W
foresr SudT foar wmem €2

(A) Thafew This (B) wiffe tfre

() wergRe tRis (D) wifsaw Foige
Frfaftaa % 9 f5e A &1 swam sfRus
FUS 999 & forg far s &2

(A) HIfeTq Hobe (B) #=f¥ra wede
(C) BRE e (D) vegrifae wehe

TR B wiex # FfaRaa d ¥ fowsr suan
T 87

(A) Rid TeprEs (B) oIS HHIES

(C) dfeeram wivwe (D) Rz wivergs

TF 37 AT w9 W 60 Tl /v B iR /v
fif¥ea o 7@ &l 2 | Teifs, Il 9 wde g
g AT vy v B faw oo @ o saat
A ey 50 fdT / Her IF &7 B o B | e

g2 & forg o9 o wHg & R vad) 27
(A) 10 fae (B) 20 fme
(©) 6 fame (D) 12 firre

TP Nl famdl & U n ger & 39 R Bl
e & T ARy gy a@ 1 fear @ 12
&l 9% @ @ "l @1 A9 e @ (@I
qoites ) | n @1 w7 T R

value of n?
(A) 9 (B) 3 (A)9 (B) 3

- ©5 (D) 7 ©5 (D) 7

53. Which of the following statement(s) is/are | 53. Frftiam % w1 /% @i wr o v 2/
TRUE? L 333w |
L2 15 o
(A) Only I (B) Only 11 (A) Paar | (B) Bawt II
(©) BothIand II (D) Neither I nog g Q) T &R 1138 ORI EERY

. i
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54.

55.

56.

57

58.

59.

60.

61.

62,

If x +y+z=22and xy +yz + 2 =35 then what
is the value of

Y+ (y -z + (z- x)¥?
E’L) 593 = (B) 582
(C) 758 (D) 915

how many seconds in total are there in x weeks,
x days, x hours, x minutes & x seconds?

(A) 11580x (B) 11581x

(C) 694860x (D) 694861x

A batsman has a certain average of runs for 12
innings. In the 13th inning he scores 96 rung
thereby increasing his average b){ S runs. What
will be his average after 13th inning?

(A)31 (B) 36
(©) 51 (D) 56
What will be the value of

((1-cot 8)/(1-tand ))* +17
(A) cos? @ (B) sin®
(C) tan? 6 (D) sec*8

In what ratio, sugar costing Rs. 60 per kg be
mixed with sugar costing Rs. 42 per kg such
that by selling the mixture at Rs. 56 per kg
there is a gain of 12%? .
(A) 89 (B) 4:5
(© 57 (D) 5:6

Anna sold his car to Banna at a profit of 20%
and Banna sold it to Channa at a profit of 10%.
Channa sold it to manna at a loss of 9.09%.
Manna spent 10% of his purchasing price and
sold it at a profit of 8.33% to Anna once again.
What is the loss of Anna (Approx)?

(A) 23% (B) 29%

(C) 50% (D) 40%. ..

A right circular cylinder of the maximum
volume is cut out from a solid wooden cube.
The material left is what percent of the volume
(nearest to an integer) of the original cube?
(A) 21 (B) 38 '

C 23 (D) 12

If the radius of the base!of a cone is doubled,
and the volume of the new cone is three times
the volume of the original cone, then what will
be the ratio of the height of the Originalvcone to
that of the new cone? Sugndios

(A) 2.7 S (B) 56 iy
(C) 43 et (D) 1:3 SR

A sum of Rs. 8,400 amounts to Rs, 11,046 at
8.75% per annum simple interest in a certain
time, What is the simple interest on the sum of
Rs 9,600 at the same rate for the same time?
(A) Rs 3012 (B) Rs3090
(O Rs5696 - () (D)Rs30247c (7

) SR

GES o

A G

54. ufy x+y+z=22 MY TIE =35
(x-y)z+(y-z)2“'(z"x)? W"lﬂmm—?

(B) 582
A) 893
?;IEC) 758 (D) 915
x Hare, x &, x ©e, xm%ﬂ?xmﬁm
frr @S B €7 >
(A) 11580x (B) 11581
(C) 694860x (D) 694861«

56. ug geodrst D ‘IZW?%%QF’iﬁw
ﬁﬁﬂﬂaﬂ‘ﬁﬁ%lwﬁmﬁﬁ%ﬂmg
ey ST arad 5 ¥ 96 ST #1434t w3

(A) 31 (B) 36
(Q) 51 (D) 56
57. ' ((1-cot 8)/(1~tan® ))* + 1 T 7 T m?
(A) cos*@ (B) sin?@
(C) tan?8 (D) sec6
58. fr argura #, 60 BUA WA fel aweh A &

. 42-°79 ufy feen arell A @ e fremn ww
f s @) 56 oud WA el W I W 12%

BT A BI°
(A) 8:9 (B) 4:5
(C) 5:7 (D) 5:6

59. T ¥ O BR I BT 20% D AN W I
iR g Y T DY 10% B AW W S T A
3 T B 9.09% I T W 4| T A AT

T T BT 10% @Y fHar 3R 38 =1 31 iR

¥ 833% @ o W ¥9 AT | I B JHAE T

2 (eTmrm)?
(A) 23% (B) 29%
'(C) 50% ' (D) 40%

60. T O AFS B T W BT AT B T
w4 g I PreT T 2 ¥ g8 |t 9|
o B A F fpaen afre & (Reemm e

@ forg)?
A2 (B) 38
© 2 (D) 12

61. T vF T B MR B FBroar AT W Q9w
SR Y @ SR A W @ e @ A
TR @ UG PSR B A GG A SAR

N T AU BT :
(A) 2.7 (B) 5:6
(C) 43 (D) 13

62:8,400 T B U N 1@ PR w F 875%
e ARV SR A W W 11,046 T & Al
1 9600 T B I W W R TH T
LG8 S

C(A)sorzwR T (B) 3000 vW .
(O 5696 v ' (D) 3024 TH
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« 1o 21 and their | 63,
[ Ehe HCE b thy two nutnllf?f;:elsf%he numbers
SO -CMis 221 times the HCT the sum of the
@] Eh?s between 200 and 300 tlhen
digits of the other number 1
(A) 15 (B) 24
(C) 07 (D) 13
: y e of the triangle. If | 64,
64. In APQR, I is the in-centre © P?
- ZQIR = 107°, then what is the measure of £
¢ (A)31° (B) 32°
(C) 34° (D) 33°

65. In a circle, AB and DC are tWO chords. When | 65,
AB and DC are produCEd: they meet at P. If,
PC=5.6cm, PB=6.3cm and AB =7.7 ey, then
the length of CD is : ;o
(A) 9cm (B) 9-15 cm
(C) 10.15em (D) 11.35 cm |

66. From a point exactly midway between the foot | 66.
of two towers P and Q, the angles of elevation |
of their tops are 30° and 60°, respectively. The
ratio of the height of P to that of Qis:

(A)1:2 (B) 1:2V3
(€)1:3 . (D)1:33

67. A cylindrical vessel of radius 3.5 mis full of | 67.
water. If 15400 litres- of water are taken out
from it, then the drop in the water level in the
vessel will be: , '

(A) 40 cm (B) 60 cm
(C) 50 cm (D) 45cm _

68. A manstarts from his house and travelling at 30 | 68.
km/hr, he reaches his office late by 10 minutes, | =
and travelling at 24 km/hr, he reaches his office |
late by 18 minutes. The distance.(in km) from -
his house to his office is: . \

(A) 18 (B) 36
(C) 26 (D) 16

69. A group of man decided to do a job in 4 days. | 69.
But since 20 men dropped out every day, the
job completed at the end of the 7th day. How
many men were there at the beginning?

(A) 240 (B) 140
(C) 280 (D) 150

70, Every day a mango seller sells his half stock, | 70.
10% of the stock overnight gets spoiled, If 1983
mango rotted over 3 nights then how much did
he start with on the first day?

(A) 25000 (B) 24000
(C) 30000 (D) 32000
g (10-A

©1:3

3 ¥ema s HCF 21 ¥ 9% S9@1 LCM, HCF
W1 221 71 & | Al TH W@ 200 3R 300 B A
2, W e} W @ oft B AT

(A) 15 (B) 24

(C) 07 (D) 13

Brisi APQR #, 1 Brfw @1 3w 37 ) 2R
ZQIR =107°, @ £P &1 519 771 87

(A) 310 (B) 320

(C) 340 (D) 33°

T g ¥, AB &R DC 31 Shard & 5@ AB @R
DC & ggrm il 8, @ 4 P W fionr 1 afE
PC =56 ¥4, PB=6.3 4 3k AB=7.7 ¥+ 2,
o CD & <18 &~
(A) 9 W

(Q) 1015 T4

2t o/l P 9k Q @ e & 3% weg fag 9@,

(B) 9.15 T
(D) 11.35 &4

oSt B =T PO FHE: 30° AR 60° 1 P @

S BT Q P SAE A UM €
(A)1:2 (B) 1:2V3
(D) 1:3V3

3.5 Ao FouT JT T JEIHR o T A W

'%Hﬂ%ﬁﬁ'@rmooaﬂﬁtﬁﬁwm%.

o gd § o D wR H far ARmEe angr?
(A) 40 41 (B) 60
(C) 50 w4 (D) 45 ¥4

TF ST AT TR W =@y 30 fE /e @
AR ¥ @R 10 e @ o | o A
qg'ﬂﬁT%‘aﬁ?%ﬁﬁﬁr/Efaa%Wﬁww
firfe %1 20 W o Sifed UgHT ¥ 9E W

3 o @ @ (@ ) 2

(A) 18 (B) 36
(C) 26 (D) 16

Wﬂ?{é%?—hﬂ4ﬁﬁﬁwzﬁmmﬁm%ﬂm
Eﬁ?ﬁ%‘lﬁ%?ﬂ%ﬁﬁ?{ma{wﬁmﬁrm
3, gER B 74 RA G & war| e
fae amedt 9?7

(A) 240 (B) 140

(C) 280 (D) 150

ﬁﬁ?mamﬁﬁmamanmﬁiﬁm%‘.
10% <ERF T WY 3 wRE @ o & | i 1983
a3 A v Ty A S e R fha 9

YA BI°
(A) 25000 (B) 24000
(C) 30000 (D) 32000

Scanned with CamScanner



i

N R T e T
LN Rt 7 S 2 _{».,_._ T g O M
i O Lo S T 2

71.

72,

73.

74.

75.

76.

Select the related word/ letters/number from 71. faw g et 3 W IR/ e /ey P .
the given alternatives. 7 R p—
PZQW : NXOU : FISK: ? PZOW : NXOU & .B PG
e e B | W G
(©) DG @) HYVD mIRE (C) DGQI -
. S ¥ §
P and Q are sisters. R and S.are lbruatheTs. Ps|72. palkQ g5 &1 R 3:;;1 %? P33R &
daughter is R's sister. What 15 Q's relation to w2159 Q ®) T
o (A) D) 987
(A) Mother (B) G'L’andrnother () T (D)
(C) Aunt (D) Sister e
A man was 32 years of age when he had hi_S 73. ws afm 32 as ! 3‘-% = mqgﬁ = B fra
first son. His wife was 35 years of age ‘fvhe“ his g1 | w19 SaP! qer 7 e B3 e B’H‘cﬁ tﬁ-‘-ﬁ
son attained the age of 7 years. The difference # oy 35 A oft | foaT AR AW B oy ¥ s
between the age of the father and the mother & :
it : (B) 4 af
{A) 5 years (B) 4 years (A) 5 7_:‘:; (D) &
(C) 3 years (D) 6 years (C) 3 ‘
If RATION is written as OXQFLK then |74 zf RATION @' OXQFLK fera vnm?a ar
LUMBER may be written as . LUMBER @ ecoumes ar |t=’|) @m[ TBW 27
(A) KTLADQ (B) ITJABQ (A) KTLADQ (g mmg
(C) OXPEHU (D) IRJYBO (C) OXPEHU (D)
A*B means multiply A by B; A@B means divide | 75 A*B =T orf @ A_'cb’r B & 7T &, A@BF ¢
AbyB,A?BmeansaddBtoAandA=Bmeans ‘ AaﬁBﬁ‘ﬂTfé. A?Bﬁlﬂﬁ’&\'ﬂ'iﬁﬁmﬁa‘r@
subtract B from A. Then find the value of ik A=BT @i 2 B B A A W
10*10 = 5107 50@10 ] 1010 = 5107 50@10 T A T T
(A) 65 (B) 45 5 (B) 45
(A) 6
(C) 55 (D) 75 . O 0) 75
Consider the given statement/s to be_ true | 76. fau U HAE/ B ‘q’;’! ﬂ‘é’"f A AR TN B
and decide which of the given conclusions/ fag T P/ weaarel ¥ FEE SR v
assumptions can definitely be drawn from the  fg T For I P o w 3,
given staterens S ¢ @it aTer R It F g B B e
Statement : . Pt .
All states having dams face no water problem. e B W I F B 9 T 2
One of the states has no dam. ; frspd : "
Conclusions : L ol & SR B A BT 9 aadi g
I It may be facing water problem. L ¥ g @) T T A a3 £
IL. Dams solve water problem.. - (A) Pa Forep 1 o7 B 2
(A) Only conclusionlf(f)l?l)ws (B) ¥ H3I§EII J o 2
Only conclusion Il follows .. . ‘ Frep ot 2 ALR: ;
% Bot}): conclusion I and conclusion II follow | (©) f=nd 1 iR fremd 11 Tl JTRT ﬁajﬁf
(D) Neither conclusion I nor conclusion 1l (D) A & ﬁfﬁﬁ'ﬁf I ai'r\r 7 & frssd 11 FTER
follow g ® i)
P started walking from North to South. She 77'-'. PATRY tﬁmﬁﬁ AR T g [l T Efq
turned right at right angle:and then again CILEECL R @ik B 3R qEIIT
right at right angle. In which direction was she 7| T8 S feqr & @ 9
ultimately walking? o East. '. D AR, L s ) T‘f
(A) North L Q) wRw R
- (C) South (D) West T, dRLE (D) T,
: e .
G N 24P-S
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78, Select the relpted word Jlelters/ number from | 78,
the given alternatives:
1:80704 f
(A) 25 (1) 64 g%
(©) 27 (D) 9
79. A frog tries to come outof dr!cc'I wiC” 41?1 ;anll(?: 79.
deep with slippery walls. E_VCIY e is tl E:
jumps 30 cm, slides down 15 cm. what 1s the
number of jumps ,-.gquircd for the [rog to come
out of the well?
(A) 28 (B) 29
(€ 30 (D) 31
80. Arrange the following words as per order in | 80,
the dictionary
1) Dyke 2) Dwindle
3) Dwell 4) Dye
(A) 3,241 (B) 1,34,2
(©) 21,34 (D) 3421
81. Anumber N isformed by writing 9 for 99 times, | 81,
~ what s the reminder if N is divided by 13?
(A) 11 (B) 9
Q7 (D)1
82. For what value of n, the sum of digits in the | 82,
number (10°+ 1) is 2?
(A) For n=0 only
(B) For any whole number n
(C) For any positive integer n only
(D) For any real number n
83. The number 3798125P369 is divisible by 7. | 83.
What is the value of the digit P?
(A)1 (B) 6
7 (D) 9
84, Select the related word/letters/number from | 84.
the given alternatives.
Donkey : Brays :: Monkey : ?
(A) Chatters (B) Trumpets
(C) Bellows (D) Grunts
85. I1f17 + 17 = 2895 85.
18 +18 = 3245
19419 = 3615
then23+23 =7
(A) 5765 (B) 2565
(C) 4005 (D) 5295
24P-S-1 [12 Al

Y . fasenit 4 4 wfaferer 1% / 8T / e
I Y |

1:8:7:04
(A) 25 (B) 64
(C) 27 (D) 9

UG g 45 et T G firerorr g
AR & oy wre? FrBert Y By gy ) 29
IR e 30 AR WA 8, AT 15 W Ay Ry
ST & | /U W areX i & B fem 3y fras

WAt B awagmrmr ar?
(A) 28 (B) 29
(© 30 (D) 31

ﬁwﬁ‘»@amm‘fwiﬂfwzﬁm
Taflerd &

1) Dyke 2) Dwindle
3) Dwell 4) Dye

(A) 3,2,4,1 (B) 1,34,2
(© 21,34 (D) 3421

Th 9= N, 9 &I 99 R fowse 918 o 2,
Ffe N &1 13 9 R f&ar e a9 Sowe =ar
BTT?
(A) 11
Q7

(B) 9
D)1

n & &AM @ o, <A@ (100+ 1) & st @
T 2 BT 87

(A) ®at n=0 & forg

(B) fareh ff ot W@ n B forg

(C) @ae & N e quifes n & frg

(D) fo5=t ) amafos W= n & fa

W 3798125P369, 7 A vy B o P @r
HF R 8?
(A) 1
<7

(B) 6
(D)9

Ry v faeeat § R wdfte s /owR /e &
AT PN |

Donkey : Brays :; Monkey : ?

(A) Chatters (B) Trumpets

(©) Bellows (D) Grunts

AR 17 + 17 = 2895
18 + 18 = 3245
19+19 = 3615

T 23+ 23 =9

(A) 5765

(C) 4005

(B) 2565
(D) 5295
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87.

88.

86.

A 10 (B) 120

A piece of paper is folded and cut as ghqy,
below in the question figures. From the given
answer figures, indicate how it wil] appear
when opened.

Foldl Clﬂt Open
83 ! T =
m 3 "'""iﬂ = t:::tEE
AT 1 H L
[ 1] r | 11 an “:"":
s asmsmsa
Il I
a
ot 1 ]
@ S @ S
hd |

P11 L

G
I
11

Which of the figure is exactly the water image
of the given figure?

05
£
e

<0
D
O
x
o
Tt

(a) B

o
-5
Y

i 11111

jERAN|
C
llll'l

H edo H obe ¢
(© é:eumbg (D) ::c!ﬂqfli?:

Select the rrﬁssing numbers from the 'given
responses :

21 6. | 70 | .
45 87 | 84 .
115 | 180 | 9

(©) 130 . SEw .'(D)140--'_7"_‘1'}.z’"_-‘

87.

88.

©

Fol c‘t om
& 41111 »-Ar itij E-::
PN Py T
o FENEH e -+
:::-— ] :_-‘Ji:»—:: EE:
|t 1 1T h__::
1
] e
o) | @) S
| et B tq
[*r n
1] N -
e an EA i
© H o HEHH
i |

27

& € gl @ Wyl I gy ¥

| o

H @UONbE 4 Hanoo:
(A) :;“ega HH - (B) 't obe T

T
&
g

Tttt

IEEaN
Ty

(D)

JLLL Ll

21 56 70
45 87 84
115: | 180 ?

S
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this figure? 89.

89. How many triangles are there in N PR F R B #2
[E] 573
PR
E&[E
(A) 10 (B) 12 (A) 10 (B) 12
(© 14 (D) 16 (© 14 (D) 16
90. Which of the answer figures illustrate the | 9p, B o ampfa Fr=faRag & a9 WA B gy
relationship between: -
Delhi, Sri Lanka, Asia . feeelY, e, gy
iy o e % :::“—‘ﬂ_—]h"—
L1~ NS m r N n —~
o HEEEE @ e @Rl o foE
Hl\ /I ‘ \‘ 1ll a
NN \ ¥ ! N ::-‘ d l\ ¥
R =] ‘ L = L
| - }T T '_'_ ™
. ACHE ENH
© (oD ® [ © ) (D) I
HEEE NS S pat
——— [ ——— =~

91. In the field of computer what does the term 91. ®YR B & § VIRUS 717 T e &7
VIRUS mean?

(A) Very Important Resource Under Search
(A) Very Important Resource Under Search

(B) Verify Interchange Result Until Source
(B) Verify Interchange Result Until Source (C) Very Important Record User Searched
(C) Very Important Record User Searched (D) Vital Information Resources Under Seize
(D) Vital Information Resources Under Seize

92. Communication between a computer and a 92

- PR IR PSP S A L MEILNET
key board involves transmission, mieT 2
A) Simplex (B) Half- Duplex
§C)) FullI—JDuplex (D) Ring (A) forere (B) BrH—grad

©) Tei—gwia (D) R

93. Which of the following is 5 top-down | 93. Frfafen ¥ & @ @ efg—sreT w27

s (B) Fort g o
ava orten
(C) C (D) coBoL, SR (D)
94, When using athwe?jsez;ver to view 3 website or | 94. m qr 9q e ey $ forw 99 g B
web content, the client sends? . Y,
(A) Information (B) Message (EAQ}QWWIIWW' TARE ?fmﬂijrm
(C) Request (D) Responge (©) s EBD)) b
95. Which of the followmg CUrreCﬂ'Y connects a | 95. ﬁ'ﬁ]’%ﬁga ¥y B |7 Jqase $ M B SHD
website’s name to its IP address? IP 90 § §& T | Hrear 27
(A) DNS (B) PDA (A) Sy "By €
(C) Web browser (D) Storage ©) ¥ z D)) 1P : o)
24P-S-1 [14 -Al |
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96.

97.

98.

99

100.

101.

102.

What facilitate you to access email from
anywhere?

(A) Webmail interface (B) Message Board
(C) Weblog (D) Forum

Which of the following is the correct order of

data hierarchy from smallest to largest?

(A) Bit, Byte, Kilobyte, Megabyte, Gigabyte,
Terabyte, Petabyte ;

(B) Byte, Bit, Kilobyte, Megabyte, Gigabyte,
Petabyte, Terabyte

(C) Bit, Byte, Megabyte, Kilobyte, Gigabyte,
Petabyte, Terabyte

(D) Byte, Bit, Megabyte, Kilobyte, Gigabyte,
Terabyte, Petabyte

Data storage or retention after power loss is
referred to as -

(A) Volatile storage

(B) Non-volatile storage

(C) Sequential storage

(D) Direct storage

Word processing program, spreadsheet
program, photo-editing and database program
are examples of?

(A) Operation manager.

(B) Operating software.

(C) Operating system software.

(D) Application software

Where is RAM located?
(A) Expansion Board (B) External Drive
(C) Mother Board (D) Operating System

If a computer provides database services to
.other, then it will be known as?

(A) Web server (B) Application server
(C) Database server (D) FIP server

Full form of URL is?

(A) Uniform Resource Locator
(B) Uniform Resource Link
(C) Uniform Registered Link
(D) Unified Resource Link

97.

98.

99.

e

100.

101.

Jerarge, TERT

(© Re, age, ¥maEe., e, A,
YeraTge, SNEIEe

(D) a5, fie, HAETEE, e, frmme,

2TEIgE, UTHIRe

TR i BN @ 9% Sel TR a1 R 3 @
HET W 87 '

(A) dfererger RS

(B) i — dfcierge wiRW

(B) i wiveda”
() AiRfET fiven \iTedaR
(D) TReae |iTedaR

RAM oef Rera gt 27
(A) e A (B) vawedd $1R9
(C) wavare (D) Sie¥fET Rivew

T} P PER I fH Rivew 31 SeRE Aag
WM Bl &, T 30 T el e’

(A) 9@ W (B) TRwaT TR

(C) ST TR (D) FTP ¥R

102. URLWWWW%?

(A) Zfe Rer deer
(B) gFf Rt foiw

(C) Ffrni 3R fiiw
(D) e Rt fie

'24|=-'s-1,v,<‘e
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103,

104.

105.
106.

107.
108.
109.

110.

24P-S-1

‘
Bt |

5 o ig correct regarding
Which among the folloWinG i

CashTree?

(A) CashTree js a
founded by five pu

(B) CashTree isan interbank n D
Managed by Furonet Gervices India I'vt.
Ltd.

(O) Cash  Tree s
telecommunication sy
State Bank of India o

(D) CashTree is a wotldwide financial
messaging network which exchanges

terbank network in India
ni ¢

blic sector bank.
etwork in India

a computerized
stem operated by

messages between banks and other |.

financial institutions.

What is the name of Al tool developed by:
Google?

(A) Chat GPT
(O) Gemini
What is the time needed by each device on a
network, to hold the message before processing,
called as? ' o
(A) Propagation time (B) Queuing time
(©) Transmission time (D) Jitter

(B) Alpha Code
(D) GROK -

Which of these hardware devices is usedi
to perform traffic. directing function on the
internet? _ '
(A) VGA card

(©) Flash Drive

(B) Router;' i
(D) Modem

........... is the programming language used toj
write a macro in MS Excel? ' |

(A) C (B) Visual basic .
(©) Java (D) None of the above !
Which organization developed BHIM

Application?

() SBI () RB1 ¢
(C) NPCI (D) Pine Labs ;.
Which of the following are the Educationali

Softwares?
(A) MATLAB (B) Google Farth
(C) Nasa World Wind (D) Al] of the Above |

Presently, which of the following i e fastest‘:
Indian Supercomputer :
(A) Airawat (B) PARAM Siddhi

(C) PRATYUSH (D) PARAM GANGA

R

103.q§qmazaﬁﬁﬁrwrﬁ~rﬁaﬁﬁmﬁhmvaa?

(A)%vrﬂwﬁw?ﬁﬁmm%m
‘qq[rmqefaﬁﬁfﬁrﬁ'ﬁﬁ&hfﬁma}maﬂ
UER S '

(B)M1mﬁwmﬁ@%%mm
A e TR R e g
aRT e orar 21

©) B 7R Ve && gy ot s

(D)W@ﬁmm%mm%aﬁ
da1 SR o7 fOHT Wt 3 4y widw oy
IETT—H2T BT 2|

104'WWWM@WW.W§?
(A) e GPT (B) w1 e
.()m (D) &

105.#mwmﬁa@mﬂ?maﬁma
T W U, W B U amaws wwy a5y wp

HET War 87
(A) AR W (B) TET T
(©) zafer v (D) frex
-7106.331#?%@?@13@'&?@3?3%#16“%
wo PR e ae @ forg swaT far o 87
(A) VGA &TE (B) W™=
(C) wrer §159 (D) #3q
107. MS Excel # macro 5w Ryt & fre @i
AT AT SRy BR 27
(A)C (B) Visual basic
i (0) 77 & 2 78
| 108, BHIM tRerer fov wime 4 RoR Rra?
. (A) THang (B) e
2 (C) TTiRdamd (D) ws= =8
109-%%1@3#%%?\%%&?%?
(A) MATLAB (B) TETt aef
(©) T o firs (D) SR &

110, =l ¥ Frnferfera 4 @ i Wt dor s

U depey g2
(A) e (B) w Rifk
(C) sy (D) W M

'
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111. Which area does ]'harkha'r!d farll under in the b1 (1989) & # o
agro-climatic zones classified in the Plamﬁng ‘ ﬁmﬁmml'l’ o m' ia}dlé E"”?mﬁ b Ty

‘ commission (1989) report? _

1o (A) Central Iglateau and hill region | @ayma TR mﬁ;f‘i}_ga&h

E 2 O (B) Western plateau and hill region (B) ofygdl TOR : :

(C) Eastern plateau and hill region | ©) qdf oR 3 gEr &l

) (D) None of the above (D) = A BS T

112. Which of the following is not an archer? 112. freferfaa & 9 Fr dRE T 27

(A) Madhumita Kumari ' LNl (B) IRt weay
(B) Purnima Mahto ‘ (A) TP (D) 3 fhsm
(C) Deepika Kumari - (C) T B

(D) Aruna Mishra |
113. Which of the following festivals iS mainly | 113 fr=fafea ¥ & @ A1 TER T& &Y | afdarfea

celebrated by the unmarried girls. ‘ . St R
(A) Bandana. (B) Tusu. » : Wﬁﬂﬂ IR ®) T
(C) Sohrai (D) Sarhul - (A) 511
. (C) g (D) WA
114. Bokaro steel plant was built with the help of? ,11 4. <R e e FrEAT ST N T T an
(A) USA (B) Japan | () R (B) W
(C) Soviet Union (D) Germany © < D)

i
1115, PreferRed # @/ P W1 e ST fR SRES
Mission to come to Jharkhand? ol smar :

‘ 115. Which of the following was the first Christia

(A) Gossner Mission g (A) TRR frem

(B) Dublin University Mission | (B) sefere RivaRemer e
(C) Holy Cross Mission (C) &l wiw e :
(D) None of these (D) T | DIg TE

116. Which of the following British Major was £ | . e, 2qeR ¥ 1857 fa-;v‘rg. 3 R e aw

killed by the native soldiers in the course of th AR @ AR :
1857 revolt in Rohini, Deoghar? A Q_{W gngﬂ T eﬂ?
(A) Taylor (B) Norman Leslie (A) . (B) 'E:"E" (
(C) McDonald's (D) Wilkinson © ﬁﬂﬁ;ﬂm (D) faferem

117. When was Tilka Manjhi hanged in Bhagalpu » Rrorer wigh & wrTegR F T wid & 1 A

(A) 1785 (B) 1789 ~ () 1785 (B) 1789
(C) 1780 (D) 1787 o O (D) 1787
118. Lance Nayak Albert Ekka martyred while 18. wiiw T aewd vowr Y PrefRe 4 = s
fighting in the following? i Eidse ARy ?
(B) India-Pak war, 1965 )N 1S %
(C) India-China war  (B) ART—UIE g, 1965 .
(D) Kargil war Q) A g8 -
: D) mﬁm Ig 3 3
119. Which of the following is not co - ﬁqﬁ-ﬁa ¥ Qo ‘m ‘ﬂﬂ ﬁﬂ'ﬁﬂﬁ'p -
matched? ' A) TR TN - T Ve d
(A) Dassam waterfall - Ranchi (B)) NG i b “;g[ 2 i !
(B) Jonha Waterfall - Ranchi e - '
(C) Sadani Waterfall -Gumla € TSI — el

(D) Panchghagh waterfall - Latehar U TR — SR
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ich of the
120. J. Bartholomew was a student of which

following colleges?

(A) st, Savier College

(B) St. Columba's College

() Ranchj College :

(D) Markham College of Commercf 1t?
121. What dig the British call the Bhumij revo

(A) Ramnarayan’s uproar
(B) Ganganamyan’s uproar
(C) Jagannatha's uproar
(D) none of the above

122. What was the reason cited for Birsa Munda’s

Govermnent?
(A) Cholera

(B) Tuberculosis
(C) Jaundice

(D) Fever

123. Telanga Kharia was arrested by the police |

while addressing the members of the Jury

Panchayat in the Kumhari village of the Basia | °

Police station, later on he was imprisoned in
which of the following jails? -

(A) Delhi Jail (B) Ranchi Jail

(C) Patna Jail (D) Calcutta Jail

124. Who of the following imparted the initial

education to Birsa Munda?
(A) Anand Pande (B) Jagmohan Sony
(C) Jaipal Nag (D) None of these

125, The clothes worn by the women of the Munda’
Tribe are called? k
(A) Pareya
(C) Khanaria (D) Pon

126. Who invented the santhali script Ol chiki? &
(A) Pandit Raghunath Murmu i
(B) Francis Ekaa

(C) John Hoffman : ‘:...,

(D) Dr Narayan Oraon :
127. What is the Santhal youth dormitory called?
(C) Dhumkuriya (D) Pel Arepa :
128. Which of the fol]owing is  incorre Cﬂy
matched? %
(A) Baidyanath Temple . Deoghar
(B) Basuki nath Temple _ Dumka 0
(C) Haldighati temple Garhwa
(D) Jagannath temple - Ranchj i

129. During the Civil Disobedien
" national school was establish
(A) Ranchi

(C) Hazaribagh

®) edat___
Daltongan'
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¢ Movement, a |
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death in the Ranchi Prison by the Bntlshi |
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130.

131.

132.

133.

* (C) Sasan

134.

135.

136.

137.

138,

139,

belongcd to Pakur who got life
imprisonment during the ’Wal\abi ,
Movement’?

(A) Ibrahim Mandal

(B) Shah Mohammad Hussian

(C) Mil’ Usman

(D) None of the above

Where ‘Kingfishers’ birds are found in below
mentioned places?

(A) Palkot Sanctuary

(B) Parasnath Sanctuary

(©) Udhwa Lake Bird sanctuary

(D) None of the above

Sudhindra Narayan Singh is assomated with
which art?
(A) Dance

(B) Painting
(C) Sculpture

(D) Music .

What is the name of the place where the dead
body is buried in the Asur tribe? ‘
(A) Jhanpi (B) Maidan

(D) None of these

As per the Panchyati Raj Act, 2001, who is
responsible for restoring unlawfully alienated
land of Adivasis in Jharkhand?
(A) Zila Parishad

(B) Deputy Commissioner

(C) Water Users Associations LRy
(D) Gram Sabha ' . |

{

In which painting there is the depxctlon of 81k1
(Devi)?

(A) Sohrai Painting  (B) Ganju Painting .
(C) Kohbar Painting (D) None of these . -

Though which place of Jharkhand does the
Tropic of Cancer pass” - £
(A) Netarhat ++(B) Orman]hl ;

(©) Gola

Who among these tribal leaders of Ch.hota

Nagpur were member of the constituent | -

assembly?

(A) N.E. Horo - (B) Jaipal Singh

(©) Karthik Oraon (D) ]uel Jakda

Which district is assoc1ated with the Batane
Reservoir Project?

(A)Palamu = (B) Bokaro i
(C) Hazaribagh' (D) Dumka - gnt

What is the name of tribal ﬂower festival 1n
harkhand? =

(A) Sohrai : (B) Sarhul

(C) Karma - (D) Holi

LEAR N4

(D) Allof these |-,
137.

130. .,
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133,
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140.

141,

142.

143,

144.

145.

146.

147.

24P-S-1

limit for ownership of

What ; imurm i
at is the ppaxim ghts according to

land granted ynder the title 11

the Forest Rights Act?

(A) 1 hectare (B) 2 hectares

(O 3 hectares (D) 4 hectares

In which district is the Udhwa Lake Bird
Sanctuary located? o

(A) Gumla (B) Sahibganj

(C) Koderma (D) Dhanbad

Which dance form of the Jharkhand has gained
national and international fame?

(A) Paika (B) Jadur

(©) Jatra (D) Chhau

Santhali, Mundari, Ho, and khadiya language
belong to Munda language family. Whereas
Oraon, Korwa and Pahariya (Malto) language
belongs to?

(A) Same language family

(B) Nagpuri language family

(C) Dravid language family

(D) Indo-Aryan language family

The name of which organization has been
amended to Adivasi Mahasabha?

(A) Chhotanagpur Unnati samaj

(B) Birsa Dal

(C) Sonot santhal samaj

(D) None of the above

What is the projected growth rate of Grosé
State Domestic Product (GSDP) for Jharkhand
in the financial year 2024-25 at constant price?.:

(A) 74% (B) 7.5% 2 ‘ 3

(©) 7.6% (D) 7.7% i
it

Inwhichdistrict oﬂharkha“dTiIumalaTimp;é‘
Devasthanam (TTD) announced to construct ;

replica of the Tirupati Balaji temple? s 2

ey

(A) Ranchi (B) Dumka

(C) Deoghar (D) Chatra | ; ‘
147
capacity of Tenughat Therma] Power Station. &
(A) 500MV () 520 My o

What is total installed power gener;ﬁbh:f

(©420MV . (D)400pmy

o SN, Zop
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149.

150.

Under PM-ABHIM (Ayushman Bharat Healty,

Infrastructure Mission) scheme two Nursing

colleges are being built at ?

(A) Koderma Medical College and Phulo Jhang
Medical College Dumka

(B) Rajendra Institute of Medical Sciences,
Ranchi and M G M Medical College,
Iamshedpur

(C) Rajendra Institute of Medical Sciences,
Ranchi and Koderma Medical College

(D) Rajendra Institute of Medical Sciences,
Ranchi and Palamu Medical College,
Palamu

Mukhyamantri Shiksha Protsahan Yojna
offers free coaching for students preparing
for National Level Competitive Examinations,
students will get the monthly stipend of Rs
(A) 2500 * (B) 2000

(©) 3000 (D) 1500

The Ministry of Coal, Eastern Coalfields
Limited (ECL) is conducting a pilot project for
Underground Coal Gasification (UCG) at the
(A) Jharia Coal Block

" (B) Norht karanpura coal block

(C) Kasta coal block in Jamtara
(D) Giridih coal block

148.

149.

150:
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